YEAR 4 MATHEMATICS
MODULE 4

5

1. Express as decimal 6+ =+ .
10 100

N

. Subtract the sum of 1346, 769, 809 and 12 from 5000.

w

How many boys are there altogether in the following towns?
98734 boys intown X, 51083 boysintownY and 34512 boys in town Z.

4. Find the sum of the square of 7, the square of 12 and the square of 14.

o

The square of 17 is ....... .

o

Simplify 72 - 42,

7. Evaluate 62 x 102.

8. The square root of 144 is

©

Change % to a mixed number.

10. Change 2 % to an improper fraction.



